JL_

Using Powers of Ten and Halves

Name:

Break each problem down using power s of ten and/or halvesto solve.

1) 20x40=
10x 4=
5x 4=

3 60x 120 =
6x12=
6X06=

5 700x70=
70x 7=
TxX7T=

7) 50x 36 =
5x 18 =
5x9=

9 50x 60 =
6 x 50 =
Ex6=

11) 500x30=
50 x 3=
Ex3=

13) 70x90=
90 x 7=
7T xX9=

2) 40x 32 =
4x16=
4x8=

4)  40x 180 =
4x18=
4x9=

6) 50x 80 =
8x50=
5x 8=

8 600 x 90 =
60 x 9=
6x9=

10) 30x 24 =
3x12=
3x6=

12) 900x 30=
90 x 3=
Ox 3=

14) 80x 50 =
5x80=
8x 5=

Answers
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Using Powers of Ten and Halves Name: Answer Key
Break each problem down using power s of ten and/or halvesto solve. Answers
1) 20x40= 800 2) 40x32= 1,280 300
—_— —_— 1.
10x4= 40 4x16= 64
5x4= 20 4x8= 32 ) 1,280
3 7,200
3 60x120= 7,200 4) 40x 180= 7,200
6x12= 72 4x18= 72 s 7,200
6x6= 36 4x9= 36 5 49’000
6 4,000
5 700x70= 49,000 6) 50x 80= 4,000
70x 7= 490 8x50= 400 7 1,800
7x7= 49 5x8= 40
S— —_— 8 54 000
9 3,000
) 50x36= 1,800 8 600x90= 54,000
5x18= 90 60x9= 540 0. 720
5Ex 9= 45 6x9= 54
- - 1 15,000
9 50x60= 3,000 100 30x24= 720 12.__ 27,000
6x50= 300 3x12= 36 s 6300
5x6= 30 3x6= 18
14. 4,000
11) 500x30= 15,000 12) 900x30= 27,000
50x3= 150 0x3= 270
5x 3= 15 9x 3= 27
13) 70x90= 6,300 14) 80x50= 4,000
90x7= 630 5x80= 400
7x9= 63 8x5= 40
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[ Math ] www.CommonCoreSheets.com 9 11-14]21]14| 7 | O




